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p.105 - RS ) EE - FRFUEAEIS T EE 1)
Ens 94T 0o = |1 —0.4(1/N)?|- 11X F 0. = |1 —04(1/N)?|- 11X F

=1-0.4 X (29.8/114.2)% X 235 =1-0.4 X (29.8/114.2)?| X 1.1 X 235

=229 N/mm? =251 N/mm?
p-105 Ne=062A=229X11850=2714 kN |N¢= 04 =251 X11850=2974 kN 1)
e 1117
p.105 sOQu = (2714+3068) X c0s(39.8°) =|s0. = (2974+3068) X co0s(39.8°) = 1)
61317 4438 kN 4638 kN
p-105 ws = jsy* Qau! (hsqu * ns@)=1.3X4438 | nsn = jsy* Quu/ (nsqu * ns$) = 1.3 X 4638 1)
Te 44T /(108931 /1000X0.85)=62.3 — 64|/ (108931 / 1000X0.85) = 65.1— 66

%N N
p-106 6600 / (64 /2 +1) = 200 —@200 & {6600 / (66 /2) =200— @200 & L, 1)
b2t 217 L, 3251D 2-¢19@200 &35 3350 2-g19@200 &35
p.106 32X2X hsqu * hsp = 64X 108.9X0.85|33 X2 X jsqu * s¢p = 66X 108.9X0.85| 1)
NG 34T =5924 kN = 6109 kN
p.106 4438 kKN ™ 1.33% 4638 kKN D 1.321% 1)
s 447




